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Eguivalent Polynomials

AN

AN NNAN/NNNNN/NNN/NANAN
Two polynomials that have the

sSame SuUM...

3v-4+3=3x-3+4
3v-7=3xw-7

Subtracting Polynomials
AAAAIAAAAARNANIIA
M ANANNNNNNN/N/N/N/NANAN

|.Keverse the Sign of each Cerm

you are subtracting.

2.Follow the steps for addition.

53’#-1:(7 -9 - (23’-*2):3-3)

5’+lzg =9
B 2xy 3

3:1 +0 -6
——)33 -6 VN

N

{AN UNKNOWN quanflfg oR
amount, offen )

Representedb ga letter. |

. D092
£ a0 7x |

Polynomials in Standard Form
PANAAAAPIALNIIIA
M ANNNNANN/NNN/NN/N/N/NAN
The standard form For writing a

polynomial is to put the Zerms
with the highest degree £irst..

Example: Put this in Standard Form: 3x2 - 7 + 4x3 + x®
The highest degree is 6, So that goes first, then 3, 2 and then the constant last

x6 +4x3 + 3x2 -7

Multiplying Polynomials

AN

M AN N NN NN N NN N NN NN/ N
L.Multiply each Zerm in one polynomial
by each term in the other polynomial.
2.Add those answers together and
Simply if needed.

2x(x +3xy) = 2x-x +2x-3x
(+/—§) —21++6zd L‘/V\

“'I,I"""""I\I"l

d/
quantity, or amount, witha

- knownvalue. A constantis ™
of‘fen Represented by a number.

. N9 25+ 3
o a0 7

Adding Polynomsials
A AN
MANNANANNNNNN/N/NN/NAN
1.Place like Zerms Zogether.
2.Add 2he like terms.

6 +10x =7 + 2x*+hx
—=(6+2) +(10+4)x + -7

>8P +hx -7 VNG

D/w'dinj Polynomials
(I AANANANAANANAANAANANAANAAANANS AN
AN

1.5plit the polynomial up by terms.
2.Divide each term by the denominator.

9% +12x +1 =?$ ‘gx £
3x TR

=31+4+-§; /\

- With elther a greater than or
i less than sign that shows that
WO Valigs are not equal.

X+2>5

YTl
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: The process of Replacin
- Varlables (letters) with constants 2
(numbers) in equations and

expresslons.
If @=5, then what Is a+0? i
5+0=I5 :
Iff &=2 and b=3, then what is Q-
ab?

Qllilkl Probability and Statistics 9
Sty kn st con 3
‘cluster sampling: A sampling technique in which groups of partcipants are seected instead of indivduals.
convenience sampling: Choosing individuals who are easiest o reach.
‘cultural sensitivity in a survey: Questions need o be sensitive to the beliefs and practices of all the people surveyed
population: the setofallthings or people being considered for a survey
‘sample: a portion of the population heing surveyed
+ self-selected sampling: A sampling method in which members ofa popalation volunteer o be partofthe sample.
smple random samplig: A sumpin prceein whichschpembe o he ot s el oty ofbin oo
hesampie
‘stratified random sampling: a sampiing design in which the population is divided into several subpopulations, and random samples are
then v o s supopelton.
* survey bias thegeston infucce sponses i vaor o againstetoic o hedt collcion
‘survey cost: the cost of collecting the data must b taken into account
surveyethics: he s collced st nly b wed o theprosestatedin he ey
surveyprivacy: fthetoic o hedt colloctions el sy st ot et or may g a e nswee
surveytime et el forcolcin thedt st he cosieed
« systematic or interval sampling: A sampling method in which a pattern is used to select members of a population.
imingof a survey whe the s i ol cubd aflct e resls sk ahout soow s i Augusor s
‘use of language in a survey: how the question is worded can lead people to answer in a desired way (eg: Do you think the price of movies
areolight)

PERPENDICULAR
TO CHORD

PROPERTY 1
The perpendicular from the
centre of d circle to a
chord, divides the chord
into 2 equal parts.
Point O is the centre of

the circle, when
<OPB = <OPA = 90° then
AP=PB N

7o Calculate, or find, the v
" avariable, oR Unknown, in an

\ -1
- @ ICA

-
he value of",

Similarities and Transformations
CrossMultiply 6 . X 6%20=120-16

Scale

. Scdle Didgram
Factor” Origindl Didgram ~ and Divide = 8 20

8
x=16

1l
a- 2 Order of  The amount of #imes a shape

6
hie 5048
3-5-0B
Line of
Symmetry

Laas. Equilateral Triangle | 360"
Reflection A Angle of Rotation=120° [order of Tot.

Rotation matches up ds it is rotated 360°
Equilateral Triangle 360°
Order of Rotation=3 | X of rof.

Angle of  The amount of degrees you need fo
Rotation rotate d shape before i matches p.

Transfornation Rotations Rohata 50 bout terign
Moving d shape 2 lef+ and 3 up Origin is (0,0) on a graph

can be written as:

Vertex is a corner of a

2L, 3V or (x-2, y+3) or [2.3] ‘shape.

PERPENDICULAR
TO CHORD
PROPERTY 2
The perpendicular bisector

of d chord in d circle
pdsses through the cenire
of d circle. When;

<OPD = <OPC = 90° and

DP = PC, then AB passes
through O, the centre of
+he circle.

Linear Relations - Study Cheat Sheet

——,

Oslope Very Important:
e "egﬁvzf_"azfz -to match an equation to
at-chart or a graph
::i:fe hostive siope always solve for "y"
fox. y=3x:2 AN N b
slope=m=rise Y =mx+
P U gope/ it

-

-If you only have a "y" varioble
you get a horizontal line
-If you only have an "x" variable
“ you get a vertical line
wrabusrepd
o s Interpolate: info inside the

graph

To find the y-int make x=0 Exterpolate: info outside of
To find the x-int make y=0 the graph

TANGENT-RADIUS
PROPERTY

A tdngent to d circle

is perpendiculdr to

the rddius at the

point of tdngency.

That is;

<APO = <BPO = 90°

PERPENDICULAR
TO CHORD
PROPERTY 3

The line that joins the
centre of d circle and the
midpoint of a chord is
perpendicular to the chord.

When O is the centre of a4
circle dnd AF = FB, then
<OFA = <OFB = q0°
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CENTRAL ANGLE &

INSCRIBED ANGLE
PROPERTY

In d circle, the medsure of
d cenhtrdl dngle subtended
by dn drc is twice the
medsure of dn inscribed
dngle subtended by the
sdme drc.

<COA = 2<CBA, or

<CBA = »<COA
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INSCRIBED ANGLE

PROPERTY
In d circle, dll inscribed
dngles subtended by the
sdme drc dre cohgruent.
<COA = 2<CBA, or
<CBA = %»<COA

T
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ANGLES IN A

SEMICIRCLE

PROPERTY
All inscribed dngles
subtended by d semicircle
dre right dngles. Since,
<AOB = 180¢°, then
<AFB = <AGB = <AHB = 90°
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This is the formuld sheet that will
be given to you on the PAT.

Grade 9 Mathematics Formula Sheet
“The following informtion may be useflin writingthis tet.

Arat) Gireanference ©)
cine At ok Comimin
Rl A=
g Asip Pythagorean Theorem
[ S —
Vlume () »

e e
[ —— a

POWER OF A

POWER
TO RAISE A
POWER TO A POWER,
MULTIPLY THE EXPONENTS

(8632 = 86)(2 = 8!5

POWER OF A
QUOTIENT
THE DIVIDEND AND THE
DIVISOR ARE BOTH RAISED

TO THE POWER BEFORE
THE DIVISION IS
PERFORMED

PRODUCT OF

POWERS
TO MULTIPLY POWERS
WITH
THE SAME BASE ADD
THE EXPONENTS.

ZERO EXPONENT
ANYTHING TO THE
POWER OF ZERO
IS ONE.

Improper to Mixed Fractions
IANAANN\NAAANAAAAAANAAANANS AN
M AN NN NN NN NN NN NN NN
To convert an improper fraction to a mixed
fraction, follow these steps:
L Divide the numerator by the denominator.
2. Write down the whole number answer
3.Then write ‘down any remainder above the
denominator.
‘Example: Convert 11/4 to 2 mixed fraction.
- EIE
=9 11 +4 =2 with a remainder of 3 <
Wk e 2 3 e e o e ) st cenorntr (), -

3
'4

QUOTIENT OF

POWERS
TO DIVIDE POWERS WITH
THE SAME BASE SUBTRACT
THE EXPONENTS.

POWER OF A

PRODUCT
THE PRODUCT, OR THE
RESULT OF A
MULTIPLICATION IS
RAISED TO A POWER.

Mixed 2o Lmproper Fractions
A A AN AN ANAAAAAAAA
M AN NN NN NN NN NN NN NN
To conwert a mixed fraction to an improper
£raction, follow these steps:
L Multiply the whole number part by the
fraction’s denominator.
2. Add that to the numerator
3.Then write the result on top of the
denominator.  exampie: convert 3 % to an improper fracton.
R g
IR,

a7
s
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Adding Fractions
A AN AAANOOOIVIDOOA
AN ANANANINANANN

There are 3 steps to add fractions:

L Make sure the bottom numbers
the denominators are the same

2. Add the top numbers the numerators, put the
answer over the denominator.

3. Simplify the fraction i needed.

2 -3/+/ EiggE
£ ...I:L‘L ,&2-% %

.Dl Vi dvi'ﬁact‘/ ons
AN ANAANAANAANAANAANAANAN
AAAAAAAAAAAAAAA
There are 3 steps to divide fractions:
L Turn the second €raction, the one you want to
divide by, upside down. This is now the
reciprocal
2.Multiply the €raction by that reciprocal
3.Simplify the fraction

Eram

iz TTI

|.n

. . =6
XH x1 S

ral-
»

Parts of a Polynorial
PANANANANAANANAANAANAANAANANAANASAN
EAANAANANANANANNANNANNNN

-A Variable is a symbol For @  cogcen  Variavle
nimber we don't fnow yet. It is

usudlly a letter like x or y. 4x -7=65
A ritmber on it's ouwn is called a LW
Operator Constants.

Constant.
A Coefficient is a number usea

to muttiply a variable. Exprossion
A Tarm is either a single nimber '4—‘\_7‘ -5
or avariable, or mumbers and SRsi =S
Vaviables muttiplied together. " f

Term

Swubtracting Fractions
AN VAV AV LAV N VLV VY
M AN NN NN NN NN NN NN NN
There are 3 steps to subtract €ractions:
L Make sure the bottom numbers the
denominators are the same
2. Subtract the top numbers the numerators.
Put the answer over the same denominator.
3. Simplify the fraction i€ needed.

" 3
EEE O TP 1
%s/s»f/s,
o 31,&-1
%3 "3

Rational Numbers
AV ANAAAAANAAAANAANA
NN NNN/N/N/N/N/NAN
A rational number is any number that can be
written as a simple fraction.

5 s/ BRRRE
175 774 25
o i
.001 1/1000
0.111... 9

Monomial, Binomial & Trinomial

AAAAAAAAARIIIAA

M ANANANNNNNNNN/N/N/N/NAN
There are sSpecial names For
polynomials with |, 2 and 3 2erms:

3xy? 5x-1 3x+5y2-3
Monomial (1 term) Binomial (2 terms)  Trinomial (3 terms)

Ma/t:p y 2 Fractions
(AN AN N ANAAAANAANAN
M NN NN N NN NN NN NN NN

There are 3 steps to multiply fractions:
L Multiply the top numbers the numerators.
2. Multiply the bottom numbers
the denominators.
3. Simplify the €raction if needed.

A2 _axa _ 2 _ 4 SRS
2775 2X5 | 105 5 G

Polynomials
RV RN RN N N RN RN N N GN GN GNGN
M N NI NN N NN NS NN NN N NN

This is what a polynorial
looks like..

Degrees of a Polynomial
v R A A AAAATATATANAN
EAANINNNANANANANANINIANANANN

For a Polynomial with only one
variable (X) 2he Jejrgs is 2he /arjcst
exponent of the variable (X).
this makes it Degree 3
4x3+2x2 -7




